Management Aptitude Test

December 2000
All India Management Aptitude Testing Service (AIMATS)
Section | : Language Comprehension

Directions (§s. I o 5) : Read the
passage given below carefully and then
answer these questions based on what
is stated or implied in the passage.

Anxiety and consclence are a pairof
powertul dynamos. Of course, Tcan only
speak for myselll Between them, they
have enswed that one shall work hard,
but they cannot ensure that one shall
work at anything worthwhile, They are
blind forces which drive but do not
direct Fortunately, I have also heen
moved by a thind motive—the wish o
aoe and understand. Cunosity 15 another
motive for action It iz also one of the
distinctive characteristics of human
nature and contrasted with the natures
of nonhuman anmalz. All liman heings
have cunosity in some degree and we
also all have it about things which are
of no practical use.

Chrosity may be focussed on amything
in the universe, bul the spintial reality
of the phenomena should be the ulimate
objective of all cutosity for it 1o be
fruitful, Thanks o my mother my
approach wm this ulimate objectve iz
through the story of human affairs,

1. What is the main objective of this
passage Y
(1) Distingwish between human beings
and ammals
(2) Projeci curiosily as a poteni
mobvating factor
(3) Project anxiely and conscience as
madequate motivators
(4) Motivation and spiritual reality
2. A characteristic peculiar o huwman
heings that iz meferred © s
(1) Superior intelligence
(2) Spirit of enguiry
(3)Capacity to rationalize and
analyse
(4) Ability to sift the practical from
the impractical
3. Which of the following statements
i tue according to the passage 7
(1) Ammals are as curious as human
beings
(2) Curosity 1s the only nwive for
action
(3) Feople motivated by cunosity do
not need other motives o guide
them
(4) People motivated by anxicty and
conscience alone c¢an be
misdirected
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4. According to the author
(1) Those who have litle curiosity are
curioug about unimportant things
(2) Apart fom humans no other ving
heings have the gift of cunosity
(3) The highest form of curiosily can
he satisfied by study of human
allairs alone,
(4) Spiritual reality 1 the ulimate goal
of humans through action
6. The author subscribes to the view
(1) One’scuriosity should focusheyond
the facade on the lalentmearning of
thinga
(2) Curiosily 13 an inherted farmly
characteristic
(3) A study of human affanrs 15 the
mast effective method of satsfving
one's curiosity
(4) In order to motivate, curiosity must
be coupled with anxiety and
conscience
Directions (@s. 6 v 10) : Bead the
passage given below and then answer
fhese questions which are based on what
is stated or implied in the passage.
Hofthodied animals like caterpillars
often fall a prev o voracious hunters like
hirdsorreptiles. Despite having no means
tn ‘actively’ defend themselves, with
weapons like claws orjaws, they have,
nevertheless, evolved  other equally
effective deterrents. A particular species
of the caterpillar lives at an aliitude of
over 2,500 metres in the Homalavas, 1L
uses prominent colows to inform would-
be predators ol its inedibility, In the event.
that an mexperenced or advenbrous
bird did eat the caterpillan, it would
probably vormit it oul spon afler, and
subsequently desistvmatiacking sirmlar
gpecies in the futme, Though this would
do the unfortunate victim no good, the
species benefits. A rare example of the
marlyr among anirmals,

6. Caterpillars cannot defend
themselves because thev
(1) Are passive animals
(2) Are lazy
(3) Camnot acquire weapons
(4) Have no claws or jaws
7. The expression ‘other equally
effective delerrenls’ means
(1) Preventive weapons which have
equal effect on others
(2) Mechanism which scares everyone
equally well
(3) Prevenfive equipment which iz as
cffective ag something that has
been already mentioned
(4) Deterrents that are as powerful as
those the caterpillars have.
8. The Himalavan caterpillar uses
prominent colows 1o
(1) Wam the predator
(2} Attack the predator
(3) Reveal itself
(4) Defend izelf
9. Experienced birds do not atmack
the Himalavan catermpillar because they
are
(1) Repulsive (2} Inedible
(3) Aggressive {4} Diseased
10. In the context of the passage, a
martyr i@ one who dies
(1) Without puting up resistance
(2) Without any gain o onesell
(3) While defending one’s homeland
(4) T zave others
Directions (§s. 11 v 16) : In these
gquastions, choose the word from the four
allematives (1), (2), (3) and (4) that is
most nearly similar in meaning o the
word given in CAMIAL letiers.
11. BENVUISION

(1) Apathy {21 Vinlence

{3 Disgust (4) Avenge
12. GHT

{1} Bold (2) Courage

(31 Grease (4) Ievel

¥
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13. SATACIOTUS

{1) Ohbscene {27 Wisc

{3) Wholesome  (4) Confident
14, CIOUT

(1) Tear {27 Claw

{4 bhle (4) Phwer
15, FOMENT

(1) nstigate {27 SBhield

{4 Trustrale (4) Waver

16, FEFIRCTIISSI0ON
{1) Beaction (2} Acceplance
() Resistance  (4) Magnificence
Directions (@s. 17 i 22): In these
guestions, choose the word from the four
aliematives (1), (2), (3) and (4) that is
most nearly opposgile in meaning fo the
word given in CAPTAL letiers.
17, COWMEBASSIONATE
(1) decisive  (£) Unaympathetic
{3) Unlawful  (4) TIntrustworihy
18, FESTIVIE
{1) Buoyant {27 Flacid
{4 Besistant {47 Inaolent
19, GRADIUAL
(1) Energetic (2) Dynamic
{3) Rapd {471 Enthusiastc
20, RIIDENTARY
{1) Developed {27 Bolile

{3) Pale (4) Weak
21. SAIVAGE

{11 Pum (21 Remove

{(3) Confuse (4) lose
22, SFDENTARY

{11 Vivid (2) Afraid

{31 Indolent (4} Active

Directions (s 23 fo 28) : In these
questions, each sentence has a blank
indicating that something has been
omitied. Beneath each sentence, four
aliematives (1), (2), (3)and (4)are given.
Choose the word orsetofwords foreach
blank that best fits in the blank without
changing the meaning of the sentence
as a whole.

23. I vou do not ........ . all vour
monthly expenses would exceed vour
IMC O INE,

{1} Economise (2) Spend

(3) Save (4) Spharge

24, The magiclan ..., the
rabbil inlo a pigeon.

(1) Transtormed  (2) Transfigured

(3 Converled {4) Wlade

25. The cosl of this operation has
e nur gmall store of money.

(1) Destroyed (2) Damaged

(3) Depletied (4} Affected

26. He had laken the shocking news
quicty, neither ................... fate nor
uttering any word of bilerness.

(1) Submiting to (2} Railing against

(3) Conspining with {4) Dissentine flom

27 . The greater. . ......oooe.., INCTERASE
in population, the harder itis for people
to find adeguate housing.

(1) Of {2} The

(3) s the {(4) Iz of the

28. Capitalistsociety ..o
profit as a valued goal

(1) Which regards (2) RBegarded

(3) Was regarded (4) Regards

Directions (Gs. 29 v 34) : In these
guestions, each sentence has four under
lined words or phrases marked A, B, C
and D Choose the one that must be
changed o make the sentence correct

29, Many paychologists oday suggest
(A) that we interprel dreams by
compare (BY the dreams with (C) the
reality ol each persor’s (DY life.

(L) A (21 B 3} C 4) D

30, When (AY Teame home, the (I3Y
children sill dido't finish (CV dinner, (T}

(1A {21 B 3y {41 D

31. He would (AY never have taken
the job ifhe had been knowing (BB what
great demands (C) it would make (DY
on hig time.

(L) A {£) B (31 C 4) D
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32. Schools in India can he
supported {AY  either by government
budgets (BY and (C) by private
foundatons. (I

1y A (2) B

(3) C (4) D

33, Dell s definilely (AY one of
the (BY most large (C) cilies (1Y in
the world.

(IYA (21 B

(3) C (4) D

34. Doth (A) personality and external
looking (BY vary (C) greally even
among (DY brmthers and sisters,

(LA (21 B

(3) C 4y I

Directions (@s. 35 fo 40) : In each of
these questions, a related pair of words
is followed by four pairs of words (1),
(2), (3) and (4). Choose the pair that
best expresses a relationship similar to
that expressed in the original pair

35, Teazure - Chest ;-

{1} Money : Account
{2} Coms : Mint
{3) Fnance : Exchequer
{4) Cash - Vault
36. Wool : Warmth : :
{1} Badic : Broadeast
{2) PFerson : Success
{3) Marketing : Advertising
{4} Spring . Hasticity

37. Goose : Gander - -

{11 Dog : Tap (2) Sheep : Hock

{31 Doe : Stag
{4 lorse - Bridle
38. oreh ¢ Lberty
{1 laws : Cowt
{(218cales  Justice
{3)Balance @ Eguity
{(1)Weights - Measure
39. Greenhouse : Hant : -
{1 ncubator : Infant
{21 len house - Chicken
{3)Hive : Bee
{4 1Archives - Docwmnent
40, Wlisper ; Speak : ;
{1 Lsten ¢ Bear
() Request - Ask
{31Brush : Touch
{4) Heat : Chill

ANSWERS

1. (4] 2. (2) 3. (4) 4, (4)
5.14) 6. (4) 7.1(3) 8. (4)
9.(2) 10.(4) 11.{3) 12.(2)
13.(1} 14.{4) 15.(1) 16. (1)
17.(2) 18.(1} 19.(3) 20,(L)
21.(1) 22.04) 23.(3) 24.(1)
25.(3) 26.(2) 27.(3) 28.4)

29_(2): I should be ‘comparng’.
a0. (3) It should be ‘hadn’t finishec’
al1.(2): I should be ’lnown'.

a2. (3): I should be ‘or.

33. (3): I should be ‘largest.

34, {4): & should be ‘hetweern.
3b6.{4) 36.14) 87.(3) 38.(2)
39.(1) 40.(2)

Section Il : Mathematical Skills

41. Father's age 1z 4 times that of his
son. 5 vearsback, itwas 7 times, Hisage
now is

(Ly30  {(2) 35 (3) 40 (4) 45

42. A =zalesman averages Hs 240
diring a normal 404w weele Dharing
a =ale, his rates are increased by 50%.

W hat iz his commission if he puts in 60
howrs during the sale ?
(L) 380 (2) 540 (3) 600 (4) 640
43. What is the next number n the
series given below 7
2,5, 9, 14, 20
(Ly25 (2) 26 (3) 27 (4) 28

4
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44, I two munhers are in the ratio
6 : 13 and their least common multiple
ig 312, then the sum of the numbers iz

(L) 75 (2)567 (3)76 4)eT

T 5 1w the value
ofa: his
(1y2 1 2y 1 . 4
311 : 2 4y 4 -1

48, Two dice are thssed. The prohahbility
that the wial score i a prime number
is

5

sl B g el
LI}B (2) 12 (3) 5 (4) 5

47 In how many wavscan six different
rings be wom on four fingers of one
hand ?

(Ly10 (2) 12

(3115 (4) 16

48. What is the next number in the
series given below ?

Say 48050 50T

(L35l (2) 46

(3) 53 (4) b2

49, A travels finm Blo C a distance
of 2560 miles in 5.5 hows. He returns fo
Biin 4 hows 40 minutes. Ihs average

speed 13
(1) 44 (2) 46
(3148 (4} &l

50, A machine 1= s0ld at a profit of
10%. Iad it heen =old for Ra 40 less,
there would have been a loss of 10%.

W hat was the cost price 7

(L) R 175 (2) Rs. 200
(3) Ra. 225 (4) Hs. 250

51. I derive an annmual income of
Rs 688.25 from Rs 10,000 invested
partdy at 8% p.a. and partly at 5% p.a.
simple nterest. How much of my money
13 invested al 5% 7

(1) Rs. 3,725 (2) Bs. 4,225

(3) Bz 4,800 {(4) Bs. 5,000

52. A rightangled tiangle has a
hypotermase of 13 em and one side of
12 em Is arca is

(Ly30 {2139 ((3)80 (4)78

53. A circular park of 20-metre
diameter has a cireular path just inside
the boundary of widih 1 metre. The arca
of the path s

(1) 15m (2) 17

(3) 19m (4} 2hm

54. An inspecior rejects (08% of the
meters as defective. How many will he
examine to reject 207

(L) 200 (2) 250

(3 25(H) (4} 3000

55. In a survey, it was found that
65% of the people watched news on
TV, 40% read in newspaper, 25% rcad
newspaper and watched TV. What
percentage of people neither walched
TV nor read newspaper ?

(L) 0% (2 5%

(3 10%: (4) 20%

56. x% of y iz v¥% of

1 2) 4 3 ’ Vg
(Lix | 100 & 100 (4} 100x

57. A cando a work in 18 davs, B
in % days and C in 6 davs. A and B
start working together and after 2 days
¢ joing them What iz the fotal number
of days taken wm finish the wotk 7

(1)4.33 (2) 4.5

(3) 4.66 (4) 5.33

58. The swrface area of a cube i3 150
sr cm. W hatis the length of its diagonal
inem?

(1y5 (2} 5‘;3 (3) 543 ()52

659, What is the missing figure in the
expression given below 7

16T #0088
— X — - =X = + —
7 7 75 F
(131 ()7 (@) 4.37 (4) 32

XE—-1
7
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80. If the circumference and the arca
of a circle are numerically equal, then
what is the numerical value of the
diameter?

(1)1 (2) 2 (3) 4 (4)

61. In a house, there are six 40-wall
lamps which are on for 5 hows a day
and three 80swatt fans which are on for
10 howrs a day. I electricity cosls Ra 2
per kilowatt hour, what ig the monthly
electricity bill ?

(L) hs. 216 (2} Rs. 280
(3) Rs. 315 (4} Hs. 400

62, A driver's income consists of his
salary and tips Durng one week his
tips were 3/4 of his salary, What
fraction of his income came from tips ?

(1)4/9 (2) 5/ 9

315/ 8 (4) 5/ 4

63. A house costs C rupees. Iater 1t
was sold for a profit of 26%. What is
the capital gams tax il iLis 50% of the

profit?

(1) C/ 24 2)C/ 8

3 Cid (4) C/ 2

64. Whatis the value of the following
expression?

(L s (D4 €00+ M+ il -

(Ey1 + %'t 2y 1 - x'*

(3yx" —~ 1 4y x® + 1

656. In a mangle ABC, #A = 90°
and D iz mid-point of AC. The value of
BC? — BIP is equal to

(1) A (2) 2ADF

(3) 3AIF (4) 4 AT¥

66. It an angle is its own comple-
mentary angle, then s measure s

(Ly30 (2) 45

(3) 60 (4) 90°

67. Which of the lollowing equations
has real mots ?

(1)8x% + dx + 5 =

)% +x+4 =10

B¥{—1) x5 =10

(4)2x" - 383x+4=0

0

68. A wire 13 in the form of a circle
of radivg 35 cm I it is bent inn the
shape of a rthombais, what iz the side of
the rhombus ?

(1} 32 em (21 70 cm

(3} 55 em (4} 17 em

89. In a G.P, the first torm is 6 and
the cormmnon ratio iz 2. The eighth term
is

(1)640 (2) 1280

(3) 206 {4) 160

T0. How much water must be added
to 100 cc of 80% solution of horic acid

tn reduce itto a 50% soluton 7

(1) 30 {21 40
(33 &0 {41 60
T ' 5 P - Q e
T1. What iz the value of F_0 if
= T
a ?
-y 2 o 2 z
(L} 3 (2] 3 (3) G (4] P

72. It the arithmetic mean of two
rumibers 18 5 and geomefic mean is 4,
then the numbers are

(1)4, 6 (2) 4, 7

(313, 8 (41 2, 8

73. X iz what percent of 4/ 5th of
X7

Ry 95 {2) 80

(3) 120 {4) 125

T4, Square root of 117649 is
(1)347 {(2) 243

(3) 353 {4) 357

76. Cube mol of 858503 is
(1) 83 (e

(3) 87 (4) 87

76. Tvo mckets approach each other,
one at 42,000 mph and the other at
15,000 mph They start 3256 miles
apart. How far are they apart (in nules)
1 minute hefore mpact ?

(1) 1628 (2) 1000

(31826 (4) 1200

&
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77. A bought4 hotlles of beerand B
hought one botle of lager, lager per
hotle costing twice that of the beer
bought nothing but paid Bs. 50 for his
share of the drink which they mixed
together and shared equally. I C's
Bs 50 covered hiz share, then what is
the cost ol the lager ?

(L) &0 (2} T5 (3330 (d)48

78. In a class, 20 opled lor Physics,
17 for Maths, 5 for both and 10 for
other subjects. The class contains how
many smdents ?

()45 (2) 42

(3)52 (4) 60

9. In a comrmumity of 175 persons,
40 read the Times, 50 read the Samachar
and 100 do not read anv. How many
persons read both the papers ?

(Ly10 (2315

(3)20 (4) 25

80. A worker 15 paid Es. 56 for 358-
hour week Upto 40 howrs, he iz paid
at the normal rate and on overtime, 1.5
times the normal Tow many hours did
he work to gel Rs 887

(L1148 (2) 52

(3158 (4) 55

ANSW ERS

41.(3): F=48 (F-53)=7 (5 -5)
— =40, §= 10
42 (2): Bate is increased fiom Bs 6
per how © R 9 per hour
43. (3): The sequence mn the given
soniesis+ 3, +4,+ 5, +6,+ 7.
44, (3): Tet the numbers be 6k and
13k
LCM. = 312
LOM of 6k and 13k
=6 x 13 xk
B x 1d x k=312
i o

46, (4)

46, (2):

47.{3}):

48, {4):

49_{4):

50. (2)

oo Numbers are 24 and 52,
coSum = 24 + 52 = T8
ba = 3b 23
2a - 3b 5
= 25Ha + 15h = 46a — 69h
= 2la=8ibh = a = 4b
a 4
S e
b 1
The event “Tial score 1s a
prime mamber when two dice
are lossed” occurs in the
following 15 ways @ (1, 1,
(1, 2), (1, 4, (1, 6), {2, 1),
(2, 3), (2, 3), (3, 2), {3, 4),
(4, 1) @, 33465, 2),.45,.0),
&, 1) (6, 5).
- Required probabnlity

18 S

36 12
®C, ways, Le. ®C, ways, Le.

BME
g
The marmbers al even places
formm an AL, eps. 48, 50,
A fravels 500 miles in 10 hours

= 15 ways

1
10 rminutes, ie. 10 5 hotrs.

- Average Specd
300 BO0x B

T 10K 61
L
E1

et the CF be Rs k
11k
s P=k+ 10% ofk= 0

11k

o ez d OV b T s
s k-10% ofk = 0
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= o = SRR 40
10 10
2k
= 0 - 40
= I =D
61. (1) let money invesied at 5% be
Es. k.
Ckxdx s (0000 - kjxixd
100 100
= G8B.25

— bk—8k+ 80000 = 655825
=dl= 11178 = k=8725

52.(1): c
13 5
A 12 B

For a nghtangled tiangle
APC given above,
BCE = ACE AR = BO =5
- Area of AABC

=%><AB><EG:3D

Area of the path

=1 x 107 — ¢ x 92

= (100 — 81) = 19n
64, (3): 08% of k = 2, say

IR IR 1
100 08
_\?HZEDDXWD _ 2500

55. (4):

MNews-

paper
15

80% of the people either

walched TV or read nows-

paper.

. 20% neither watched TV

nor read newspaper
56.(1): x% of vy = v% of k, say

XY ki

: = = k = x
100 100

BY. (None) : (A + B + CFs ome days
work
1+2+ 3

1 1
= — + — + —
g B 18

i
5
1

—_

(A + Brs one davs work

Ve

3
3
+

o =
18 9 18 8

(A + Brs 2 days work= %
Remaining 34 of the work is
finished by A, B and C
tneether in 2 davs.
o Tatal mumber of davs talen
t finigh the work = 4
58. (3): Ieta he the side of the cube.
B2 =150 = a=>5
= length of the diagonal of
the cube

= et - Mingenal of e fage of Yo cubed

S W

= J3a = 53
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59. (4):

60. (3):

61. (1)

62. (2):

63. (2):

- 9 256 21
R e e e d
Fi 7 44 4%
= ¥ w8 = 956 - 81 + 49

=il

let v be the radius of the
circle.

L2mr =1 o 2re

e e T

= Diameter = 4
Consumphon per day

=0 AU G 4 3B 24

1l

3.6 kilowatt

Consumption in a month

= 3.6 x 30 = 108 kilowatt

s Monthly bill = 108 = 2
= Rs. 216

lel salary of the drver be

Es. k Therefire, income from

: o
ips = Rs. —k
£ 4
Theretore, #otal income
=k + Ek = %
4 4
= 3':) of % = Ek
9 4 4
3 :
= 3 of total income
= hecome from tps
C.P =Fs.
’ C
ofit = 25% of C= o
C 5C
J F¥= G 4 — = —
& ) )

C
i 1= H0% profit, then

1200 + 2400 = 2600 wall

64. (£):

65. (3):

66.(2):

67. (3):

G68. (3):

69, (1):

Capital Gains Tax
2

= 50% of — = —

4 8

(Given expression
= {1 =) (L + (1 + %)

(I + x* (1 + x*)
(1 —x") (1 + x%)

(1 4+ x*) (1 +
(L—xAl #3045
=(l —x"){l + ) =1-x!®

G

o

il iy

—

B AC = BAD A

BC* - BIY
= (AT + AC?) — (AT + ATY)
AT AIF
(AC + AD) (AC — AD)
(PAD + AD) (2AD — AD)
= 3AIF

1l

Izt x be the angle,
o= W ew=en =457
I the cquation ax® + bx + ¢
= 0 has real roots, then
b? — dac = 0.
(1) = b? —dac =16 —60 < 0
2= b —dac=1-16 <0
(3)= 2% —Tx + 5 =10
=b? —dac=49-40=9>10
M)=b*—dac=9-32 <0
Perimeter of the cincle

:2x§x35:226 Cm

s Side of the Bhombus
= 55 cm
nh term of a G.P = ar®~-

where a = fivst term and ris
the eommon ratio.
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-~ Bthterm = 5 x (27
=0 x 128 =640

they should be 1000 miles
apart, | minute before impact.

70. (4} In 100 ce solulion, quantily T7.(1): letcostofbeer=Rs %/ bottle
of barc acid = 80 ce and - costollager = K 23/ botle
quantity of waler = 20 ce. ~ AspentRe 4x and Bspent
Suppose x litres of water be Rs. 2x. C paid Bs. 50.
added v make the solution . Cost of lager
50%. = s 50 per botle
L B0%(100 + x) = 80 Cost of beer

=%, =60 = Rs. 12.50 per hottle
P 78.(2):
P-Q_ gt 7+1
TLALY Pofd P 3 -
Q
8 4
6 3
72. (4} Iet x, ¥ be the numbers .
= Bial murmber of stadernts in
A SRR the class
2 =IH+h 4+ 124 1) =42
and ¥y = 4 = =16
= Xk o= 10 %y = 16
=k -y =&+ v —duy
= 100 — 64 = 36
= G i
p R s e
5 = E i i
73. (4): Suppuse X = k% of %X h iﬂx i};5x+ = 1
i 80. (None) : let the worker worked
=ﬁx§x—>k~=125 for x hours.
T4, (2): I.l?ﬁnl,‘}:?x?x?xﬁ? | -.ﬁX4D+(x—4D}
w7 %7 a5
L N11TR4S = T T w7 - 343 56 3

75. (3): 658503 X oy - o8
=3 x3 x3 x 24389
=3 x3 =3 x28 x 29 x29 :?E!Lm_:gx EUJ:BS
- 3658503 = 3% 29 = 87 =2 .

76. (2): Because they cover 60000 3,_Bx3 . 5
miles in 60 minutes, i.e. 1000 T g ARR T
miles in one minute, therefore, = x = 5
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Section lll : Data Analysis And Data Sufficiency

Directions (Qs. 81 to 8&4)
Theess questionsreferts the following circle
graph showing the expenditure
distribution of a certain family :

EXPENDITURE DISTRIBUIION OF A

CERIAIN EAMITY
Rent 20% Food 30%,
Entertainmant Miscellaneous
10% f’ﬁ% G
)
4’@?
e &
Clothing 2
152, Taxes
1%

81. I the family spends Rs 6,500
per month, how much are its annual
taxes ?

(1) Re. 7,800 (23 I 9 360

(3) Ra. 9,800 (4) I L0080

82, How many degrees should there
be in the central angle showing elothing,
taxes and tansportation combined 7

(1) 140 (2) 110

(3) 120 (4) 126

83. How much more money permonth
15 spentby the familvonfood ascompared
to the rent?

(1) Bs. 650 (2) Bs. 700

(3) Bs. 750 (4} Rs. 800

84 If the expendibmre hudget of the
family 1s raised o Bz, 8,000 per month
and distribution on varous items remain
the same, then the monthly expenses on
both, the enterizimmentand the transpor,
will be

(1) Ra. 1,800 {(2) Hs. 1,600

(3) Ra. 1,440 (4) Hs. 1,220

Directions (Qs. 86 o 88) : Sudy the
table given below and answer these
guestions :

INVESIMENTS IN FUBIC SECTOR

(Re. crores)

MName of fie Eremrise Iwvestments a5 on
31388 313488

1. Sl Authonty 2,933 8,305
of mdia {SAIL

2 Coal ndia 4,730 2,041

3. National Thermsal 3.1149 4,520
Tower Commizsion (NTIC)

4, (Hl & Natmal Gas 2432 2 R0
Crorumzsen (OGO

5, Buaral Mectrification 1.522 1.830
Corporation (RF

B Malkonal Texile 43a 1,040

Comoraton {NTC)

15.66% 22108

85, Comparatively, the percentage
increasze 1n nvestment in the year
ending 4 1st March '99, was the least
in the case of

(1) NTC (2) REC

(3) SAIL (4) ONGC

86. The percentage ncrease n invest-
ment was nearly egual in the caze of

(1) Coal hulia & QNGO

(2) Coal India & SAIL

(3) SAIL & N'IC

(4)ONGC & NTHC

87. The increase in investment in
NTHC was more than twice o that in

(1) NIC {(2) Coal India

(3) REC (4) ONGC

88. As compared © the investments
fur the vear ending 31st March, 1994,
the total investments in all the six
enterprises for the year ending 31lst
March, 1999 exceeded approxnmately
by

(1) 10% (2) 15%

(3)18% (4) 20%

MAMACG ENENT APITIUDE N AT A GLANCE
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Directions (s 89 o 922) : These
guestions are based on the following
graphs :

Siocks TDTEJ

48.3% Investment
B s ’ Profile

Bscurites r:"

Rutuzl
Fuags

B.9%

High 4
Risk, /
51 OCH;

GOU’[ BOF‘IdS,‘ 2 \ h.- LIF1IE; |p-1|
St ‘31‘ iss "‘d Boads
& Securmes Bonds

\ / /

g Nu:u 185

GSgo 3

Municipal
/ Bonds

Btal Ivestment Funds
= Rs 11 crore 5 lakh
89. According o these graphs, approxi-
malely, how much money from the mvest
ment portfolio was mvested in highaisk
slocks 7
(1) 9,000,000 (2) 10,10,000
(231 98,000 (43 6,00,000
90. Approximalely, how rmuch money
belonging o the investment portiolio was
mvested In Slatedssued bonds 7
(1) 2.87.30 000

(2)3.39,50.000
(3)4,50,00,000
(4) None of these
91. Which of the following earned
the least amounl of money for the
investment portolio 7
(1) Municipal Bonds
(2) State-issued Bonds
(3) Government Bonds & Securities
(4) Cannot be delermined from the
aiven information
92. Which of the followmg was the
areatest 7
(1) The amount of money mvested in
bMumeipal DBonds wlhich yielded
hetween 7% and 9%
(2) The amount of money invested in
Statedgsued Bonds.
(3) The amount of money imvested in
[Tigh Tisk Stock
(4) The amount of money mvested in
Municipal o ndswhich vielded over
9%
Directions (Qs. 23 o 26) : Sudy the
following table to answer these

guestions.

PIANSW ISE FUBLIC SECTOR
OUILAYS AND EXPENDITURE
(197479 TO 198590)

(in Bs. Crores)

Five-Yoar Foriod  Approved  Acstual
Flans Outlay  Expendilure
Fifitr Plan 1974-74 35,303 39 426
Sixth Plan 1420-85 Gy 500 1.09.292

Saventh Plan 188590 1,280,000 —

93. Actual expenditure in the sixth
Han exceeded the outlay by aboul

(1) 10% (2) 17%

(3)23% (4) 30%

94, Sixth Han outllay exceeded the
Kith Han oullay by almost

(1) 50% {2} 100%

(3)150% (4} 200%

12
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95. In the Fith Fan, the expendibure
cxcceded the outlay by

(L} 1%

(2) 2%

(3 Iess than (1.A%

(43 Did not exceed

96. Trom the given table we can infer
that the actual expenditire in the Seventh
Han will exceed the oulay by almost

(1Y 40% (2 Bl
(3 B9 (4} Cannel infer

Directions (s, 87 o 104) ; Sudy
the data presenied in the following
graph o answer these guestions.

MONTHL EXPENDITURE OF A
FRM FROM JANUARY TO JULIY
DURING THE YEAFS
1993, 1994 & 1995

250 |

324 |-
38 ; _

32— )(\ 1598
- | \X 1557
Aol | g V

w1 F 3 4 & &
Jan. Febo Bar, Ape. Bay June July

0 orupees

o

Exgenditure in

9%. What 15 the total expenditure
during the pericd under review
(7 months) n 1997 7

(1) Rs. 21,07,000

(2) Rs. 21,96,000

(3) Rs. 21,54,000

(4) Rs. 2,12,4000

98. What total expenditure has
heen made during the vear 1997 and
1998 in the pernod covered in the
graph 7

(1) Rs. 42,87.000

(2) Rs. 2,70,000

(53 Rs. 45,27 000

(4) Rs. 42,78,000

99, What 1s the average monthly
expenditure during the wear 1999
covering the period shown in the
graph?

(1) Bs. 2,765,000

(2) Bs. 2,70,000

(3) Bs. 3,14,000

(4) Be. 2,47 ,000

100. W hich month has been the least
expensive during 1999 7

(1) June {21 April

(3) May (4} July

101. The expendibme in April 1999
L - higher than that of
corresponding period in 1998,

(111.5% (2) 2%

(312.5% (41 0.94%

102. The expenditure in May 1997
WHSE o less than that of the
corresponding period n 1999,

(1) 3% (2} 2 5%

(3)1.6% {4) 2%

103. The expenditure of May/
Jme 1998 was ... higher than that

af the corresponding period during
1985,
(1) 3% (2) 3.5%
(3) 2% (4} Zero
104, Which of the following
staternents is comect ?
(I'In 1997, the expenditure was
more m March than in Jmuary
(2) The expenditure in January 1999
wag equivalent o the expenditure
in July 1994,
(33 In 1999, the expenditure was leas
than that of 1998,
(4) The iotal expenditure in Jnuary
1997 and 1999 was more than
that in April 1297 and 1594,
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Directions (@s. 105 o 112) : Sindy
the following chart to answer these
questions.

Shin Population in Metopolis ; 1991

Shar Porelalion

a5 parcen o
of wial population

| gkt
Caloutts 35% 214
RAurnkai TR, BO 4
[aln A0 574
Gnanna F2. 12.4
Ahmezshad ZR% ARG
Hydsrahad 21% 255
Bangalora 1% 252

105, The twotal slum population of
Caleutta in 1991 was approximately

(1) 30 lakh (2) 31 lakh

(3132 lakh (4) 33 lakh

106. The difference n the slum
populations of DBangalore and
Hyderahad was

(L)4.1 lakh (2) 3.71 lakh

(3)2.43 lakh (4) 2 lakh

107. The city with the highest slum
population was

(1) Mumbai (2} Caleutta

(3 Delh (4} Chennai

108. Two cities with nearly equal slum
population were

(1} Ahmedabad & Hyvderabad

(2) Delhi & Chennai

(3) Hyderabad & Dangalore

(4) Mumbai & Caleutts

109. The shen population of Delhi
was more than 5 times the slum
population of

(1) Hyderabad (2) Ahmedabad

(3) Bangalore (4} Chennai

110, The slum population of all the
seven cities nearly equalled the tntal
population of

(1) Caleutta and DBangalore

(23 Delli and Chermai

(3) Delli and Hyderahad

(43 Mumbail and Ahmedabad

111, The matio of slum population to
total population m Caleutta is ...
times the same matio in Bangalore.

(L) 3 (2) 3.5 (3} 4 (4) 5

112, In terms of slum population, the
second city with the least population was

(1) Delhi (2) Bangalore

(3) Ahmedahad  (4) Hyderabad

Directions (§Qs. 113 o 120) : These
guestions are followed by two statemeniz
A and B Choose (1) if the statement A
alone is sufficient to answer the question
asked, bui the statement B by itself is
not sufficient i answer the question
Choose (2) if the statement B alone by
itgelf is sufficient to answer the given
guestion, but siatement A alone is not
sufficient o answer the question. Choose
{3) if both the statements A and B
wgether are sufficient to answer the
given question but neither statement by
itzelf is sufficient tv answer the question
Choose (4) if the two statements A and
B, even when faken together, are not
aufficient o answer the question.

113. k v larger than 1 ?

A v s greater than O
B: v —4=0
114. Iz the integer x divigible by 3 7
A The last digit in x 18 3
B: x + & iz divisible by &,

14
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115. How much is Mohan's weekly
salary 7

A Mohar's weekly salary 1s
twice ag much as Soham's
weekly salary.

B Sohar's weekly salary is
40% of the total of Ram's
and  Mohan's  weekly
salaries.

116, What is the percentage of
defecive ilems produced m a factory ?

A The total navber of defective
items produced 1s 1,234,

B: The ratio of defective ilems
tn non-defective iz 32 to
5,678,

117. Tlow long will it take o travel
from A o B? ILtakes 4 hows o ravel
from A to B and back to A

A It lakes 25% more Gme o
travel from A to B than it
takes o tmvel fom B lo Al

B: C iz midway between A and
B and it takes 2 hows o
ravel from A to C and back
o A

118. How many sguare tiles with
sides 5 inches long will be needed o
cover the rectangular floor of a room ?

A The floor iz 10 feet long.

B: The fooris 5 feel wide.

119. Agmup of4Y consumers were
offered a chance W subscribe o 3
magazines: A, B and C. 38 of the
consumers subscribed 1o alleast one of
the magazines. How many of the 49
consumers subscerbed o exactlly bwo of
the magazines 7

A: 12 of the 49 consumers
subscribed o all the three
magazines.

B: 20 of the 49 consumers
subscribed W magazine A

120, What 1z the two-digil mamber
whose first digit 1s "2’ and the second

digit iz ‘b’ 7 The number iz greawr
than 9.
A The number is a muliple of
5,
B : The sum of the digits “a’ and
o 6.

ANSW ERS

81.(2): Taxes = 12% of Bs. 6500
= Bz 780 per month
= Bz 2360 per month
82 {4): Clothing, taxes and frans-
portation combmed are 35%.
Now 100% = 360°

360
Rt

= 35% = 35 =126

83.(1): 10% of Rs. 8500
= Hs. 650 per month
84.(3): 18% of Rs. 8000 = Rs. 1440
85, (3); PFemenlimerease in invesiment :
372

T SAN= 5533 =100 = 4. 27%
Tor Coal India = 2L = 100
or Coa i = ooan
= 17.15%
1401
1 = ——— % 100
For NTFC 3119
= 44 92%
428
r NG = —— % 100
For ONGCE 5402
= 17.60%
308
. N = —— = 100
Tor R 1590
= 200.24%
117 s
Tor NTO = — x100= 12 54%
933
86. (1) 87. (3)

88. (3): Investment 1n 1998-99
mncreased from 199798 hy
22108 — [856689 = Ra, 3439
CIOIE

3439
18669

100 = 18.42% ~ 18%
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89, (None): 8.9% of 11.05 crore 896. (1) Actual Expendibure not given,
= 0.98345 cmore 97.(4): 308 + 300 + 300 + 308
= Rs. 9834500 + 300 + 306 + 306
90. (4): Investment in Government = Rs 2124 thousands
Bonds B Sesurbey 98. (4) :212_4 + 300 + 306 + 3086
= 48.3% of 11,05 crome * aietigly * gl
_ 533715 com = Rs, 4278 thousands
= Rs. 53371500 99 (3) : 312 + 312 + 318 = 318
s Investment in Statedssued 4+ 306 = 312 = 318
Bornds 7
= 26% of Bs. 53371500 21588
= Bs. 13876590 =g - Bl
91, (2): In (1), B 2988804 crmre = Rs. 314000
In (2), Hs 1 387659 crome 100. (3}
In(3), K. 5.33715 crore 5
92. (1): Ihwvestrent in Municipal Bonds 101.{2) : m * 100 = 1.92% = 2%
= 56% of 53371500 (R, 90)
= 29888040 3 100 o
(I)nvestment in Municipal | 102.14) @ 552 L TEf % 2%
Bonds ]Sk 103. (4) 104. (2)
=2 or 2 RRSURD 106.(3): 35% of 91.9 = 32.165
= 10427294 w33 1ol
(@) nvestment. in Satedssued | 106 (3): 21% o 25:5 —10% 00292
Fonds = 13876590 (Q. 90) = 5.355 — 2990
(3 )vestment in High Risk = 2.435 lakh
Swmek = 9834500 (G, 89) | 107.(2): Slum Fopulaton in
(4)Investment in Municipal Caleutta = 32.165 lakh
Bonds (above 9%) I'f#]'urr?bai = 31.212 lakh
= 35% of 29888040 o, L o
AU TINEL] = LJ. w1l K
= Jelels Ahmedabad= 6.630 lakh
109292 — 97500 Hyderabad = 5.355 lakh
93. (1) : 97500 * 10 Bangalore = 2.920 lakh
= 199 = 10% 108. (4} 109. (1)
110, (4) : Shm Fopulation (Tal
) 97500 — 39303 ;
94, (37 507 = 100 =1 (19_1-}_ lakh
KMumbai + Ahmedahbad
= 148% = 150% = 107.9 lakh
” 39426 — 39303 32165 2.92
93. (3): 39303 x 100 111.(2) :let 91 9 = K x ﬂ
= .31% = (0.5% = k= 3.b
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112.{4)

113.3) A=y >0
B=v>2y=-2is rued

out hy A)

114.(3) : 23 is not divisible by 3.
Fx + &5 is divizsible by 6,
then x 1s not divisible by 3,
e.g. 36 1s divisible by 6, bul
31 15 not divisible by 3.

115, (4) : Mohan = 2 Schan
Sohan = A04% of (Bam + Mohan)

2
= 5 of (FBam + Mohan)

2
= g Ram = g Mohan

Section 1V : Intelligen

Directions (Qs. 121 o 127) : Read
the following siatements o answer these
questions ;

Group Captain Malhotra is choosing
the last partofhis crew for the spaceship
COSMOS, with which he plans to land
on the moon. He needs 4 more crew
members of whom at least two must be
pilots, the others being engineers. The
candidates for Filots are Dalbir, Bric and
Farid. The candidates for Engineers are
Ial Monty, Naveen and Paul Fric will
not crew with Ial. Dalbir will not crew
with Naveen.

121. I Naveen is chosen, which of
the following must be other members of
the crew 7

(1) Farid, Ial and Monty

(2) Dalbir, Fric and Moniy

(3) Brie, Farid and Monty

(4) Fhne, Tand and Paul

122, If Paul 13 chosen, which
candidales will NOT be chosen o be
on the crew 7

2 R+ Soha
—5 I 5;.0 In

i 2
== o
5 Sohan : Ram

= Hohan = 2 x Ram
- Mohan = 4 x Ram
116. (2)

.
117.(1): 1§}mm‘s fiom A to B and

2
Eghmus from B o Al

118. (3}
119.{4): 11 consumers did not

subacribe © any magazine,
120.(3) : 51 itgelf iz the mumber

ce & Critical Reasoning

(1) Dalbin, Fric and Monty
(2) Dalbir, Frie and Band
(3) Dalbir, Fard and Ial
(4) Erie, Farid and Ial
123. Given the ahove siatements
about the relationships among the
potential crew members, which of the
following must be true 7
A If Dalhir iz rejected, then
Monty must be chosen
B T Dalbir1s rejecied, then Farnd
must be chosen.
;I Dalbir 18 chosen, then Faul
rmist also he chosen
(1} I3 only (2) C only
(3)A and Bonly (4) A and C only
124. K Ial iz chosen as an engineer,
which of the following could be the other
members of the crew ?
A : Dalbir, Farid and Monty
B : Dalbir, Fand and Naveen
C: Dalbir, Farid and Paul
(1} A only (2) B only
(3)C only (4) A and C only
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125. Which of the following
staterments must be true 7
A I Group Captain Malhotra
chooges Ial, then Fand also must
he chosen
L I Group Captain Malhotra
chooses Monty, then Nawveen
mst alzo be choszen.
. Ial and Naveen never crew
wgether
(1} A only
(2)A and B only
(31 A and C only
(4) B and C only
126. I aul is chosen o be the part
of the COSMOS crew and Dalhiris nod,
who must be the other members of the
crow 7
(1) Frie, Fand and Lal
(2) Itric, Tand and Monty
(3) Bric, Farid and Naveen
(4) Farid, Ial and Monty
127, I Erc makes the crew and Fand
does not, which of the following
statements must be true 7
A Paul will he a member of the
Crow.
B : Monty will be a member of the
Crow.
(1) Both A and B (2) Neither A nor B
(3)A only (4) B only
Directions (s 128 v 132) : There
iz a blank space in each of these
questions in which only one of the four
aliematives given vnder each question
satisfies the same relatfionship as is fovnd
between the two terms on the other side
of the sign :: . Find the correct
allernative to fill in the blank space.
128. Tlephone @ Ring ::

(L) Door : knoel
(2) Gale : open
(37 Door : wood
(4) Tock : key

129. Dewrioratinn @ Rust @

(1) Recession : Inefliciency

(2) Depresgion : Unemployment
(3) Bomulgaton : Iegislation
4 Iron : Water

130, Dinosaur @ Dragon @ :

(1) Ieolutinn : Tevelation
(2 Gorlla - Soldier

(3 Snow ¢ Tee

(4} Frimeval : Wedieval
131, Condone : Offence

(LY Overlook : Aherration
(2 Tror - Ormission

() Mitigate : Perutence
(4) Convietion : Crinunal
132, Shoe : Ieather : -

(1) Bus ;- Conducior

(2) Train : Wagon

(3) Ighway : Asphalt

(43 Medicine - Doclor

133, Dind the odd one oul :

(1) Grams (23 Titres
(3) Thnnes (4} GQuintals
134. Find the odd one out :
(IY2R851 (2) 521643
(31334432 (4) 34424

135, Compleie the senes :
128,34, 77,130, B58

(k)32 i2) 60

(3)68 {4) 66

136. Find out the right letters for the
guestion marks

AMBNEIFJCODPGK??

(1} M N (2) .M

(31K 41 3 H

Directions (Qs. 137 o 141): Mehia
iz the Director of investments for a mutual
fund. He believes that bluechip stocks
and government securites will generally
ot do as well as corporate bonds in

18
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the coming year, bui government
regulations require that atleast one-third
of the find’s capital be in bluschip
siocks and another third in government
securities,

137, Under current regulations, what
seems o be the best way  for Mehta
to invest in the mutual fund ?

(1) Twvodlurds government securities,

onedhird blue chip stocks

(2) Twodlurds government securities,
onedhird corporale honds.

(3) Onethird government securities,
two-dlurds corporate bonds.

(4) One-third each government
securities, blue<hip stoels and
corporate bonds.

138, ['the mudual fund hasRe. 60 crore
in assets, then what is the maximom that
Mehia could invest in bluechip stocks ?

(LY 20 emre (23 30 emre

(B340 emre (4) 50 emre

139, Tthe govemment regulations are
changed tn requre only onequarter
whereas one-third was previously
required, Mehta wall probahly

(1) Increase the fund’s holdings of
oovernment securiies.

(2) Increase the fund’s holdings of
comporate bonds.

(3) Increase the fund’s holdings of
bluechip stocks.

(4) Hold more cash

140. If the retum on governmen
securiies suddenly goes up by five
perceniage points, Mehia will probably

(1) Sell bluechip stocks to buy govern-
ment. secunbes.

(2) Bell corporate bonds 1o buy
governanent securities.

(3) Sell both corporate bonds and
bhechip stocks W buy government.
securies

(4) His action cannot be predicted

141. In the middle of the vearn the
fimd is mwvested equally In corporate
bonds, bluechip siocks and government
securities. Due o some mumours aboul
the credibility of the fund, investors have
started redemption and withdrawals
resulting in cash shortage for the fund.
MMehta muight do any one of the following
EXCEPT

(1) 5ell two times more corporate

honds than blue<chip stocks

(2) Sell only government securities and

hlue-chip sooks,

(3) Sell only corporate honds and

hluechip strcks.

(4) Sell only government securities and

corporate bonds,

Directions (Qs. 142 o 144) : Farmer
Batulz Singh has a larger square field
divided intp mine smaller squares, all
equal, armanged in three rows of Gree
fields each. One side of the field runs
exaclly eastwest The middle square
must be planted with rice because it is
wet The wheat and bardey should be
contignous 3o that they can be harvesied
all atonce by the mechanical harvester
Two of the fields should be planied with
soyvabeans. The north-westermimost field
should be planted with peamuis and
the sputhern third of the field is suitable
only for vegetables.

Questions 142 o 144 refer o the
following sguares :

(1) The square immediately north of

the rice.

(2) The square immediately eastof the

rice.

(3) The square immediately west of

the rce.

(4} The square immediately northeasl

ol the nce.
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142, Which square cannot be planted
with sovabeans ?

143, Which square cannot be planted
with wheat ?

144, T Batuk Singh decides o plant
the wheat next o the peanuts, in which
square will the harley be ?

Directions (G)s. 145 o 148) : In a
defence message, ‘GEI AWAY FIRE
BACIEWARDS, MOVE SIOW is coded
as ‘BEN CDCI QHOERCTL DCOXL,
ZMWE VEMDY

Based on this coding scheme, spot
the codes for the words given in
Questions 145 ip 148 :

145, G REAT
(1) BOENC (2) BOEQN
(3) BOTCN (4) BOTLIC
146.REWARD
(1) OEDNXE  (2) OTDCOX

(3) OEDCOX (4) OEDCOU
147 . DEADIY

(1) XECXE] (2) XENXFL

(3} XECXE] (4) XECXF
148.0OVER

(1} MWOE (2) MWZ0

(3) MW KO (4) MW ED

Directions (Qs. 149 b 152) : A
goldamith has five gold rings, each
having a different weight They are
labelled as D, K E G and H Their
peculiarities are given in the following
& statemenis :

Statement 1 : Bing D weighs twice as
mixch as ring E

Statement 2 : Bing E weighs four and
a half times as much as
ring |

Statement 3 : Ring F weighs half as
much as ring G.

Statement 4 : Bng G weighs half as
mxh as fing H

Statement 5 : Ring H weighs less than
ring D) but more than

ring F

149. It these rings are sold according
to their weights, which ring will fetch
the highest value in rupees ?

(LyD (2) G (3 F (4) H

150. Hng H iz heavier  which of
the bllowing two rings ?

(yGE (2)GEF 3)DEF - {4) DE

151. Which of the following is the
highiest mn weight ?

(1) 1) (2) K (3 F (4) G

152, Which of the following
represents the descending order of the
weights of the rings?

(1D, EH G and F

Z21ED G, Eand H

GIILTE G, Dand

(A1 G, IL Dad F

Directions (@s. 153 to 159) :
A management instilute organises
gix once-a-month lecture series for
young enireprencurs as per the
following schedule, with no dates
conflicting :

Marketing —  August flwough
Management JAanuary
Eeonomics — Aprl dwough
October
Business law — January thwough
September
Financial — March through
Management June
Accomming — Ociober
through April
Fersonnel —  Ociober through

Management December

153. During which month are the
fowest lectures given 7

(1) hnuary (2} Iehruary

(3 dme {4) September

154, Which is the largest munber of
lectures that can be atiended i a single
rmonth ?

(137 (2) 6

(315 (4) 4
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155. Which two series taken together
fill the wear without overlap ?

(1) Marketing  and  Financial

Management
(2) Personne]l  Management and
Feonomics
(3} Business law and Fersonnel
Management
(4) Business Taw and Accounting
156. During how many months of the

vearmusla studentatiend o hear all he
lectures on Markeling, Itonomics and
Hnaneial Management ?

(L)1 (21 10 (339 (4] &

157. How many lecture series last
more than 6 months 7

(L1 (2} 2 {3) 3 (4) 4

158. How many differentseriescanbe
atiended in September, October and
November?

(L2 (2) 3 {(3) 4 {4) 5

159, How many different lectures can
he atlended in Jnuary, Febriary and
March ?

(1312 (2} 10 (3) 8 4) 6

1680. FSMOOTHiscoded az 135579,
ROUGHas47555 1 and HARD as94 498,
then SOFT will be coded as

(Ly1527 (2) 1347

(314998 (4) 8949

ANSW ERS

121.(3): Since Naveen 1s chosen,
Dalbir and Paul cannot be
chosen. Therefore, Pilots
chosen arve e and Fard
Since Ial cannotl be chosen
hecause of e, therefore,
Monty should be chosen as
the 2nd Ihgineer

122, (4): e and Ial cannot be chosen
tngether

123, (3): If Dalbir 18 rgjected, either
(Navin or Paul) and Monty

124. (4):

125.(3):

126. (2):

127.(1):

128.11)
132, (3)
134.(3):

must be chosen. Also Farid
st be choszen.
I Dalbir is chosan, then Farid,
[al and Monty can be chosen
A and B are true and ©
15 ot froe.
I Ial iz chosen, BhHe cannot
be chosen, Therefore, Dalbir
and Fand musthe choson and
=y Naveen cannot be chosen.
s Bos not trae.
I Lal 1= chosen, Eic camnmot
he chosen and a0 Tarid will
definitely be chosen Therefore,
A s e,
I' Monty 1s chosen, then it is
notnecessary thatNaveen must
be chosen. Dalbir, Foe and
Farid can be chosen with
Monty. Therefore, Bis noltrue.
> 15 alzo tue because one
nout of Dalbir and Tric will
defirtely he chozen. And so0,
if Dalbir 18 chosen, Naveen
cannot be chosen and if Enc
iz chosen, Ial cannot be
chosen.
I Paul is chosen and Dalbir is
not chosen, Naveen camnol
be chosen. (3) is ruled out
Because, Dalbir 15 chosen
— Hric and Farid will
definiigly be chosen.
— lal cannot be chosen.
= {1) and (4} are ruled oul
In this casze, Dalbir and Enc
will definitely be chosen
= lal and Navin cannot be
chosen.
129, (2) 180. (3) 131. (1)
1338. (&)
2+hH+6+3+1=17,
5 +2+1+6+3 =17
4 g, gy B 10

3+
3 +3+4+4+2 =18
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135.{4): The sequence in the given
seresis + 8, + 16, + 32, + 64,
+ 128

136. (None): Consider four groups of

letters : ABC D), (EFG ID,
TJEDand M N O P :In
cach grmup, there 15 one letler
hetween lstand 2nd letlers as
wellas3rd and 4 th letle rs. Also
there are five letters hetweoen
2nd and 3rd leticrs. Therelore,
last two letters must he IT L

137.(4) 188, (1) 139.(2) 140, (4}

141, (1)
142, (4)
FI | Peanunts W heat Barley
E | Hice
I3 | Bovabeans Yoepelables
143, (3) 144, i4)
145. 3): G B R0 E—-EA-C
T —N
146. (3} RO EoEW DA C
-0 D=3 X

3147, (4y: Do X B yEA G DX
- P-4 T

Section V : Indian

161, The present Pope went on a
higtoriec tour of which of the bllowing
regions in March 2000 ?

(1) Russia (2) Greeee

(3) krael and JBrdan  (4) Turkey

162, Recently Microsoft tied up with
which of the following Indian companies
to work towards the next generation
soflware packages?

(1} Infosys (2} Wipro

(3 Pentagoft (4} MMind Tee

163. Who was the Man of the Match
in the finals of the recently concluded
ICC Knock-Out tournament held in
Kenya 7

(1) Zaheer Ehan (2} Roger Twvose

148.(3): 0 > M, V- W, E— E

R— 0
149.{1): D=2E = K« I
Ehe o
2
e Lm @ E
2

G:lH.—>H::-G
2

H«D H=>F
A FeGeH<«<D({E<IN
150. (2) 151. (3) 162, (1)
1563.(2)
Arlwlalulalolals]olxlo
MM MM | 3 [ | ane| 3
A A A AR
A A A A A A A

ElE|EB|E|E|E]|E
Fil | AL [ BT

154.(4) 1566.(3) 1b6.{1) 1587. (3
158.(4) 159. (3)
160.(1): S =1, 0 =5, T—= 7

& Global Environment

(3} Saurmv Ganguly

(4) Chris Caimnms

164, Who was the Republican
candidate for the recently concluded TS
Fresidential elections ?

(1) George W. Bush (2) Al Gore

() Ralph Nader (4} Dick Cheney

185, Tor which of the following
products advertisements does Inthik
[oshan appear?

(1} Fepsi (2} Coea Cola

(37 MII? (4) Wlaru

166, Name the small car launched
by Marti in Seplember 2000,

(1) Alfa (2} Al

(3) Matiz (4} Golf
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167. BEill Clinomn was the fourth US
President to visit Incdia, Who was the
lagt TS Pesident o visit India before
Clinton ?

(1) D Heenhower (2) bhn E Eennedy

(3) Richard Nixon {4) Jrmmy Carler

168, Who iz the Urion Minster for
Fowerin the present NDA government ?

(1) Suresh Prabhu

(2 Harm MNaik

(3) Pranod Mahajan

(4) Bam Vilas Fagwan

169, Adpresent, which ofthe bllowing
ig NOT a member of the OFEC 7

(1) Bawudi Arabia  (2) Kuawail,

(37 Venezuela {4) Iraq

170. Which of the ollowing private
hanks was taken over hy the HDEC last
yoear 7

(1) Hmes Bank (2) Indian Bank

(3 Commerical Bank of India

{(4) Federal Bank

171. When was the last time that
India won the Gold medal m Hockey at
the Olympics 7

(111992 2y 1980 {(3)1964 {4)1972

172, Who iz the PresidentofPalkistan 7

(1) Perver Musharral

(2) Rafig Tarar

(3 Abhdus Satliar

(4) Farooq leghan

1783, Name the direclor who is
working on a fikn on the life and Gmes
of Nelson Mandela 7

(1) Shekhar Kapoor

(2) Steven Speilberg

(31 bhn Wu {4) MMartin Secorcese

174. What key hutton iz found on
the top left corner of a standard
computer kevhoard ?

(1) Tah (2)Caps lock

(3) Delete (4} Fscape

175. Who collaborated with the rock
group U2 to wrile the lyries for the song
The Ground Dencath Ter Feat ?

(1) Vikeam Seth

(23 Anndhat Eoy

(3) Salman Rushdie

(4} Bhashi Tharoor

176. Which Indian boxer namowly
missed a medal atthe recenty concluded
svdney Olympics ?

(1) Gurrharan Singh

(2)N. (. Dingkn Singh

(3) Shakti Singh

(4) M. P Singh

177, Name the Siate carved oul of
Madhva Pradesh after the Parliament
passed the legislation earlier in the vear
2000.

(1) Thiaranchal (Y Vananchal

(3) Vidarbha {4} Chhattisgarh

178. The control of which city was
the cause of the hreakdown of talks
hetween krael and the Palestimans in
Octwober 2000 7

(1) Nazarcth (2} Gaza

(3} Amman (4} Jerusalern

179. T which cowntry did the nuclear
submarine Kursk belong which sank
recently killing all the sailors on board 7

(1) Russia (23 Finland

(3) Sweden (4} Norway

180. Tow many overs were allowed
per stde in the inaugural 1975 Cricket
World Cup ?

(1) 50 (2160

(3125 {4140

181, which State does Dr Bajkumar,
the fibn actor who was Kdnapped by
Veerappan, belong 7

(1) Tamil Nadu  {2) Bamataka

(3) Kerala

(4) Andhra DPradesh

182, Who was awanded the Dada
Haheb halke Award inthe vear 20007

(1) Shvam Benegal

(2) Mrinal Sen

(3) Hrishikesh Mukherjee

(4} Subhash Ghai
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183, What does IRA sland for ?

(1) Irish Republican Ay

(2) Irish Republican Association

(3) ndependent Republic’s Army

(4) Inshue BRepublican Army

184. Slobodan Milosevie, the
Yiugoslav leader who was forced © step
down in October 2000, was the
President of which Repuhblic 7

(1) Croatia (2) Bosnia

(3) Slovenia {43 Serbia

185, On October 1, 2000 the
Government announced the brmation
of a new body with the corporatisation
of the Department of RBlecorn O perations
(I¥I0) and Department of 'Blecom
Services (IYIS), What 15 the name of
thiz new orgamsation?

(1) Videsh Sanchar Nigam DLmited

(2) Bharat sanchar Nigam Limited

(3) Mahanagar Tlephones Nigam

Limited

(4) Bharat Tlephones Nigam Dmited

186. Which of the following is NOT
a member of SAARC ?

(1) Paliztan (2) Nepal

(3) Bangladesh (4) Afghanistan

187. 'The Fepubhcan FParly ol the
United States is al=o sometimes referred
o as the GO What does GOI? stand
for?

(1) Grand Old Party

(2) Government O pposition Party

(3) Grants Old Party

(4) Great Oregon Farty

188. Who is credited with the idea
of linking each page of mformation on
the net to another that went onto create
the world wide web (www) ?

(1) Hm Bemerslee (2) Bill Gates

(3) Al Gore (4} Steve Jbs

189, Who replaced Ram Drakash
Gupta as the Chief Minister of UP in
the wear 20007

(1) Rajnath Singh(2) Kalraj Mishra

(3) Kalvan Singh (4) Amar Singh

190. Who is the director of the film
Mission Kashmir 7

(1) Ham Gopal Verma

(23 Vidhu Vinod Chopra

(3 E Niwas

(4) Subhash Ghai

191. The recent Supreme Court
judgement on the Sardar Sarovar Dam
projeet on the Narmada river has
allowed construction of the dam upto
what height ?

(1370 metres (2) 90 melres

(33110 metes  (4) 135.6 mebes

192, Name the lormer Congress Parly
president who passed away in the vear
2UHMD.

(1) Sitaram Kesn {21 Rajesh Plot

(3} Bangarajan Kumaramangalam

(4) Bam Niwas Mirdha

193, Which Stawe did the Americans
huy from the Russians mn 1867 7

(1) Washington (2) Hawail

(3) Alaska (4) California

194. Arun Bajoria, a Caleuttabased
businessman, ed o lake over which
hizh profile company in the vear 2000 7

(1) Bommbay Dyeing (2) Bleo

(3) Infosys (4) Wipro

195, Name the film dirccled by
MManoy Shyamalan that was norminated
for the Oscars in 2000,

(1) izabeth (27 The Sixth Sense

(3) Bombay Boys(4) The Cell

196. How many squares are there
on a slandard chess board ?

(Ly48 (2)64 (3100 (4) 86

197, Tlow many times has Atal Bihar
Vajpavee been sworn in as the Prime
Minister of India ?

(1)0One (2)Two (3 Three {4) Fowr

198. What does ISP stand for ?

(1) International Service Povider

(2) Indian Service Prowvider

(3 Inlernet Service Prosvider

(4) niermetl Startup Provider
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199. A ldller super cvelone destroved

laree parts of which castem State of

India in the year 1999 7

(1) Aszam
(3) Onssa

(2) West Bengal
(4) Tarm] Nadu

200. Name the web site which broke
the Cnicket matehfixing story earlier this

vear

(1} bazec.com

?

{27 tehelka com

(3) tazaakhabarcom
(4} goforericketcom

ANSW ERS

161.
163.

164,
167.

168,
169.

170.
171,

172.
178.
177.

{:3)
{4):

(1)
(4):

{1)
()5

{2)
{1)
{47

162, (1)
New Zealand won the 11-
Nation ICC Enocleowt Trophy
defeating India by four
wickets in Naimbi on October
15, 2000.

165. (2) 166. (2)

Other three Presidenis o visil

India were Dwight D.
Lisenhower (December
1959}, Richard M. Nixon Glly
1969) and Jfmmy Carter
(Bnuary 1978).

c Crrganisation of Petroleum

Exporting Courtries was
formed onNovemberld, 1960
to control production and
pricing of c¢rude oil. s
headguarters are at Vienna,
Austria.

1980 Olympics were held in
Moscow. India won Gold
medals in 1928 19392 1936,
1948, 1952, 1956, 1964 &
1980,

173. (1) 174, (4) 175.(3)
Chhatiggarh hecame India’s
26Gth Slate on November 1,
2000 with it capital at Baipur

178. 14
179,

180.
182.

183.
186.

187.
191.

192.

{2)

e

{1)

{4):

193.(3)

197. 4

High Court of Chhattisgarh 1s
at Bilaspur. It hazg 16 districts,
11 Tok Sabha seatls, 5 Rajya
Sabha seats, 90 VidhanSabha
seals,

This submarnne mel with an

accidenton Ausust 12, 2000,
during military exerciges and
sank in the Barenis Sea aboul
L&D km North-Iiast of
urmansk (Arciic Region).

181. (2]
Hrishike sh Mukherjee
pionecred the genre of light
hearted socially relevant
cinema with films like
Chupke Chuphke, Gol Maal
Ehubsporat and serious films
like Anand, Anuradha,
Anupama, Namak Haram,
Abhiman etc. He was selected
for Dada Saheb Phalke Award
for 1999,

184, (4) 185, (2)
south Asian Association for
Regional Cooperation (SAARC)
hazsevenmenhers—>an Lanka,
Bhutan, Maldives, hdia, Paldstan,
Nepal and Bangladesh.

188. (1) 18%.(1) 180, (2)

J: Supreme Court gave the

nod on October 18, 2000 for
the congtruction of the con-
troversialdamonthe Nammada
mverimimeciately upto 8 heizht
of90 metresand thereaflerupto
138 metres in stapes subjectto
the proper sanction from the
authorties concemed.

: Sitaram Kesrl died at the age

of 84, He was elected party
president n 1997,

194_(1) 195.(2) 196. (2)
198, (3) 189, (1) 200, (2)
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